

                          



      Sample Paper 3 (Explanations)
ANSWER KEY

SECTION I

1. [3]
2. [2]
3. [3]
4. [4]
5. [2]
6. [3]
7. [1]
8. [2]
9. [3]
10. [2]

11. [1]
12. [4]
13.[3]
14. [2]
15. [4]
16. [2]
17. [4]
18. [3]
19. [4]
20. [1]

21. [1]
22. [3]
23. [2]
24. [3]
25. [2]
26. [2]
27. [4]
28. [2]
29. [3]
30. [1]

31. [1]
32. [1]
33. [2]
34. [1]
35. [4]
36. [4]
37. [1]
38. [3]
39. [2]
40.[1]

SECTION II

41. [2]
42. [4]
43. [2]
44. [1]
45. [2]
46. [3]
47. [1]
48. [3]
49. [2]
50. [1]

51. [3]
52. [2]
53. [1]
54. [4]
55. [4]
56. [4]
57. [1]
58. [1]
59. [4]
60. [1]

61. [4]
62. [2]
63. [2]
64. [2]
65. [3]
66. [4]
67. [4]
68. [3]
69 [3]
70. [3]

71. [3]
72. [3]
73. [1]
74. [1]
75. [1]
76. [3]
77. [2]
78. [2]
79. [1]
80. [2 ]

SECTION III

81. [3]
82. [4]
83. [1]
84. [3]
85. [2]
86. [1]
87. [4]
88. [2]      89. [3]
90. [3]

91. [4]
92. [2]
93. [3]
94. [1]
95. [3]
96. [2]      97. [1]
98. [1]
99. [1]    100. [3]

101. [2]
102. [4]
103. [2]
104. [3]
105. [3]
106. [2]
107. [1]
108. [3]
109. [2]   110. [4]

111. [1]
112. [2]
113. [4]
114. [3]
115. [2]
116. [1]
117. [1]
118. [2]
119. [2]
120. [4]

SECTION IV

121. [1]
122. [1]
123. [4]
124. [4]
125. [1]
126. [1]
127. [4]
128. [2]
129. [3]
130. [4]

131. [2]
132. [1]
133. [4]
134. [3]
135. [2]
136. [4]
137. [3]
138. [2]
139. [1]
140. [1]

141. [4]
142. [1]
143. [4]
144. [4]
145. [2]
146. [2]
147. [2]
148. [4]
149. [4]
150. [3]

151. [1]
152. [4]
153. [2]
154. [1]
155. [1]
156. [1]
157. [3]
158. [4]
159. [4] 
160. [1]

Explanatory notes:

1. 
There is a direct relation shown between fares and volume of air travel. Hence (3) is correct 

2. 
The last line of the paragraph suggests that the memorized passage can be duplicated many times same as in case of an audio cassette. Hence (2) 

3. 
Option (3) weakens the conclusion as it mentions India’s upheaval from an undeveloped country to a developed country and as it is mentioned in the passage, developed country offer social security to the elderly. 

4.
Option (4) supports the surmise. Others are just a repetition of the surmise. 

5. 
Option (2) is correct because there is a direct relation given between revenues and duties. 

6. 
Option (3) is correct because it does not undermined Mathusian theory, on the other hand it supports it. 

7. 
Option (1) is correct because it says that the potential to increase productivity has already exhausted. 

8. 
Option (2) is correct as it is mentioned in the paragraph that animals or insects are able to function effectively only in groups.

9. 
Option (3) conveys that the ratio were exaggerated rather than exact, hence supporting the fact. 

10.
Option (2) is correct because it gives us a clear picture determining the fact that high wages is not directly proportional to high performance.

11.
BF and CE is the right combination. Hence option (1) is correct.

12.
A matches with E. Hence option (4) is correct.

13.
C matches only with H. Hence option (3) is correct.

14.
B matches with H and C matches with G. Hence option (2) is correct.

15.
B matches with H. Hence option (4) is correct.

16.
Option (2) is correct. Sita is not sick, that implies Sita is careless.

17.
Option (4) is correct. Ram gets a swollen nose. Ram eats hamburgers.

18.
Option (3) is correct. They are hostile by nature. They have confidence in the management.

19.
None of these matches the given relation.

20.
Option (1) is correct because AB is a logical pair. 

21.
Option (1) is correct, stories and obituaries, do not specifically match with the first blank and dying  does not fit in the second blank.

22.
Option 3 is correct. (comes, arises and appeared) do not fit in the first blank. 

23.
“Appreciation“ is a form of expression. Hence option (2) fits in this. 

24. 
Option (3) fits in the best. 

25.
Option (2) is correct. (subordinate, ancestors) is not appropriate, heir is singular, here were talking about Indian intellectuals. Hence heirs is the most appropriate. 

26.
1C is a logical pair. Salvation is a point which is explained in C. Hence option (2) is correct. 

27.
AB is a logical pair. So is CD which follows AB. Hence option (4) is correct. 

28.
1B is a logical pair. “they” in B are the magazines being talked about in 1.Hence option(2) is correct.

29.
1B is a logical pair. “it” in B is “the Indian expatriate in the US” in 1. Hence option (3) is correct.

30.
1B is a logical pair. “savage allies” in 1 is followed by “thunder” in B. Hence option (1) is correct.

31. 
Option (1)

32. 
Option (1) 

33.         Option (2)

34.
Option (1) as (each students has) is correct.  

35.
Option (4) 

36.
Option (4) is correct as it correctly conveys the massage. 

37.
Option (1)

38.
Option (3)

39.
Option (2)

40. 
Option (1)
41. 
(1) is not correct because the noise created by the dropping of a pin is the same today as earlier.(2) is correct. The author uses the simple example of "the making of a pin" to illustrate how capitalism has turned men who possessed all the required skills of the entire operation of making a pin right from sourcing the raw material to all the steps pf manufacturing and marketing the finished product into cogs in the industrial wheel who, though they have brought down the cost of pns to the point that a single pin has no expressible value at all and churn them out by the hundred million, need modern machinery, explicit instructions on how to run these machines, technical support to maintain the machines and a well-planned schedule. So, while capitalism has caused people to specialize in one aspect of heir profession and resulted in better productivity, leaving people with the spare time to pursue leisure activities, it also leaves them universally ignorant about the whole picture. (3) is not correct. Its not just pin-making that is described but also cloth-making from the shearing of the wool to the making of a complete woolen dress. The passage uses these two as illustrations, it is not about these activities (4) Its not just capitalist success that is the main subject but how capitalist success has caused the degradation of knowledge of labour.
42.
(1) is wrong because its much cheaper to produce pins nowadays. (2) One wouldn't call it love and care but a lot of concentrated effort including craftsmanship and artistry that went into the making of the whole product. (3) Pinball machines are not mentioned n the passage. (4) This is correct because the passage clearly states that it took eighteen men to make a pin even till as recently as the end of the eighteenth century.
43.
(1) Adam Smith did boast about how much effort went into producing a pin and he did have the facts to back his claim (18 men to make a single pin) (2)Yes, it is undesirable because business is about productivity especially when it concerns the making of something purportedly simple as a pin. (3)
The author is not proud of Adam Smith's tenets he is merely stating them. (4) The author main issue is not about whether Adam Smith is right. He knows and believes in the fact that it did take 18 men to make a single pin those days. He is discussing the issue of how mechanization has changed the profile of the worker and is using facts stated by Adam Smith to illustrate his discussion.
44.
(1) This is correct. Yes, although he agrees that prices have come down and workers have more time to pursue leisure activities, he feels that craftsmanship and complete knowledge about the entire product on the part of the worker has disappeared and expresses a nostalgia for the same. (2)
He doesn't say so In fact says the exact opposite (3) No, he expresses a nostalgia for the old system. (4) No.
45.
(1) It's a fact that children can't be bothered about stealing pins. They are so common, “stealing a pin” here is just an expression that is being used. The author wants to say that children have no value for a single pin and waste them. (2)  This is correct, "stealing a pin" here is used to illustrate that children have to be taught the value of a pin. Just like a single grain of rice has no value in these days of prosperity, yet parents tell children not to waste a single grain of rice when they finish a meal. The same argument is being used here. (3)Stealing is not the point at issue here. It is teaching children the value of something so commonplace and cheap that it is wasted. (4) Again, the point at issue here is not the stealing, but the wastage.
46.
Option (3)
47.
(1) This is correct. The quality of leisure activities indulged in differs from person to person. While someone indulges in poetry and art, another goes to the lowest common denominator of popular cinema (2) This passage does not talk about this. (3) The author does not refers to machines as Gods. (4) The first choice does answer this question satisfactorily.
48.
It implies that the author is being satirical.

49.
(1) Its not corruption but the degradation in knowledge or decline in professional skill-sets that has come about as a result of specialization in one aspect of the whole operation. (2) This is correct. People depend on machines, manuals, mechanics to run and repair the machines. (3) Not valid.(4)Its not about taking care of people.

50. The passage takes about the colonies of Britain and the colonial aims of Britain as a capitalist country 

51. The author is aware that the capitalists are not just profit driven but also have an ulterior motive of establishing complete control over the other nations.

52. The civilised countries are not an easy prey to the exploitation by the capitalistic traders and are aware of the legal trade practices. 

53. The civilised people are in the habit of plundering strangers as their sophisticated intelligence is usually scheming to manipulate others for self-gain. 

54. The author is complaining that Britain’s capitalistic missions impacted its own citizens too. 

55. The passage explains how implementing the subsidy system is a futile exercise as neither does it benefit the poor nor does it sustain the economy. 

56. The statement is a fictions because it is usually the who are above the poverty line who derive the benefits of subsidies and not the poor. 

57. The subsidy bill leads to a fiscal deficit as the governments for a variety of goods and services. 

58.  The government is trying to redeem the situations by raising the petroleum prices. 

59. A witty title which captures the message appropriately. 

60. All have got affected by the subsidy system. 

61. Sieve tubes and red blood cells of mammals have nuclei when they are in less differentiated stage. 

62. Option (2)

63. Option (2)

64. Option (2)

65. Because the lobate form provides a much greater surface area for nuclear- cytoplasmic exchanges. This probably affects both the rate and amount of metabolic reactions 

66. (4)

67. The passage just puts the story as such. 

68. Same reason as 67 

69. Because by remaining generous and public spirited  they usually do not indulge  in unscrupulous and  unethical financial practice and lose their chances. Only if they are extraordinarily talented they can still become rich while adhering to all the above attributes. 

70. Because the rich are clever enough to take advantage of any chance they get and especially they do not follow ethics and values they are likely to indulge in making money what ever way they can. Their advantage of already being rich helps them to become more richer providing them with more chances. 

71. It is already well explained. 

72. Because it is understood from the passage that the author is responding to somebody or some issue and some specific questions that he/she has already raised.     

73. Because notwithstanding the quality of work each does there can be no measurement of their importance and any possible calculations that announce archbishop is worth a pound of prize fighter

74. Because extravagance along with other characteristics like a drink, betting, idleness etc. lead to poverty. 

75. Because not only the passage talks about a particular elections that is bereft of any issues but it also gives an overview of other eras and elections starting from Nehru-Gandhi era. It also talks about that in this particular election the real hero seems to be T.N. Seshan, though there has been many names that prop up as PM candidates etc. 

76. This is just factual information from the passage. 

77. Because Seshan is the umpire of this elections. Amidst too many prime ministerial candidates and other leaders who are also facing corruption charges, Seshan seems to be enjoying clear edge over them because of his constitutional authority and adherence to strict election codes and conducts. 

78. This is again a factual information from the passage. Otherwise also women empowerment is never a catchy issue to take off at the time of elections. 

79. Because all parties starting from the ruling party to opposition and even the third force are subject to some kind of investigation on charges of corruption, criminal misconduct, violation of rules etc.  

80. Because what ever changes the country witnessed in these years that is due to some strict adherence to rules and dictates of the election commission at some point of time rather than to any greater awareness in the public. 

81. The area of the original paper is ((20)2 = 400(. The area of the cut portion is 4 ( (()(5)2 = 100(. Thus the area of the uncut portion is 300(. ( the required ratio is 300(: 100(, i.e. 3 : 1.

82. The problem can easily be solved by alligation. In container 1, the ratio of liquid A to the total liquid is 5/(5 + 1) = 5/6. In container 2, this ratio is 1/(1 + 3) = ¼. In the final mixture, this ratio will be 1/(1 + 1) = ½. Alligating as shown, we get the required ratio as 3 : 4.

     5/6 

   1/4






 1/2




   3 
              4

83. The team has already played 17 (won) + 3 (lost) = 20 matches. These constitute two-thirds of the total matches. Thus the total number of matches is 30. If the team is supposed to win three-fourths of these, it has to win 22.5, i.e. 23 matches in all. There are (30 - 20) = 10 matches remaining. So the team has to win (23 - 17) = 6 of these 10 matches, i.e. it can lose no more than (10 - 6) = 4 matches.

84. Since the box is a closed box, and the thickness of wood is 0.5 cm, its inner dimensions will be 20 cm, 10 cm, 5 cm. The inner painted area will be 2[(20 ( 10) + (10 ( 5)] = 700 sq.cm. Painting 700 sq. cm. costs Rs. 70, so the rate of painting is Rs. (70/700) = Rs. 0.1 per sq.cm.

85. Since the number is divisible by 8, its last 3 digits are divisible by 8. 960 or 968 are th two possible options, so B is either 0. or 8. Since the number is divisible by 9, the sum of its digits is divisible by 9. Adding the digits, we get (55 + A + B) is a multiple of 9. If B = 8, a must be 9, but no such option is given. If B = 0, A = 8. ( (A, B) = (8, 0), and the answer is [2].

86. At least two stamps of each type were ordered initially. So Rs. 2(5 + 2 + 1) = Rs. 16 have been spent. That leaves Rs. (20 - 16) = Rs. 4. In these Rs. 4, three more stamps of one rupee were given, thus accounting for Rs. 19 in all. Since one more rupee remains, it means that one more stamps of Rs. 2 was bought initially. So the total number of stamps is 2(of Rs. 5) + 3 (of Rs. 2) + 4(of Re. 1). Note that this is the only possible combination of stamps, which is consistent with the given data.

87. Let the roots be p and q. the given quadratic equation can be written as ax2 + bx + c, where a = 1, b = - (A - 3), c = - (A - 2). The sum of the roots is (p + q) = (- b/a) = (A - 3), and the product of the roots is (pq) = (c/a) = (- A + 2). The sum of the squares of the roots is [(p + q)² - 2pq] = (A - 3)² - 2(- A + 2) = 0. Solving this quadratic, we get A = 5 or A = - 1. Neither of these values is among the first three choices.

88. The data given in the problem satisfies certain conditions like:

1. The selling Price (SP) of both articles is the same.

2. One transaction is a loss and the other is a gain, and 

3. The % profit is equal to the % loss ( = p, say)

In such cases, we can use the following inferences:

1. The net transaction is a loss.

2. The % loss is given by (p² /100). In the given problem, p = 100, ( % loss = 1.

89. The price becomes 1.3p from the original price p, while the sales come down to 0.8s from the original sales s. Thus the old revenue was (p ( s). While the new revenue 9s (1.04p ( s). Thus the % change in the revenue is [(1.04 - 1.00) ps/ps] ( 100 = 4%.

90. In a right angled triangle, the median is half the length of the hypotenuse = ½(6) = 3 cm.

91 to 92:

 Substitute the values and find the answers. Be careful while carrying out the substitutions, especially the order of x and y in the subtractions and the divisions.

93. [3].

PT2 = PC
[image: image1.wmf]´

PB; let PB= x

i.e., 64 = 4 x ( x=16

.i.e.. PB=BC+PC(16=BC+4 (BC=2OC=12

94. Hence radius is 6 cm. The given inequality involves a quadratic equation which is greater than zero. Hence the roots are either both positive, or both negative. The inequality can be reduced to (x - 1) (x - 2) > 0. This given (x > 2) as one range and (x < 1) as the other. Thus in-between these two extreme values, i.e. in the range (1 ( x ( 2), there is no value of x which satisfies the given inequality.

95. Assume the distance from A to B to be 5d. Time taken is given as (distance/speed). So for travelling a distance 3d, the man takes time = (3d/3a) = (d/a). Similarly for travelling a distance 2d, the man takes time = (2d/2b) = (d/b). He goes from B to a and back, i.e. covers a distance of 10d at a speed of 5c. The time taken for this is (10d/5c) = (2d/c). Equating the two, we get, [(1/a) + (/b) = (2/c)].

96 to 97:


Let the number of pieces sold be n and the price of each piece be p. Then total sales value, v, is given by pn,  ( 1148 = pn. From the choices given in this question, rule out 56,. Because 56 when reversed gives 65, which cannot be a factor of 1148. Try dividing 1148 by the first option, i.e. 82. The quotient is 14. Check that both, 82 and 14, when reversed give 28 and 41, whose product is 1148. Now we have identified the four numbers.

We can now make use of the data that the inventory reduced by 54. Inventory is the quantify available in store. i.e. the remainder after having sold a certain number of pieces. If the inventory reduces by 54, it means that if actually x pieces are sold, then ON RECORD, (x + 54) pieces are sold. Observe that 82 and 28 differ by 54., So, if 28 is the actual number of pieces sold, then 82 is the value entered. It follows that if 51 was the actual price per piece, then it was entered as 14.

98 and 99





       

For these problems, one should observe the various distances given and try to construct a possible configuration. One such configuration which is consistent with the data is shown in the figure alongside.


( ABC is an equilateral ( with side 2 km. B, C and D are collinear. Since AE 3 km, A and E are on either side of line BD.

100. Let the original cost of the diamond be rs. X, and let the weight of the diamond be (1 + 2 + 3 + 4) = 10 unis. So its original cost varies as 10², i.e. cost = 100x, say. After the diamond has broken, its cost becomes (1² + 2² + 3² + 4²)x, i.e. 30x. Thus the loss in cost is 70x. If 70x corresponds to Rs. 70,000, then the original cost 100x is rs. 1,00,000.

101. The smaller cubes have a side 1/4th the length of the original side. Thus there are 64 small cubes, with 4 cubes along one side of the original cube. The cubes which do not have even a single side painted are the ones not exposed to the exterior at all. There are 8 cubes  which do not have even a single side painted are the ones not exposed to the exterior at all. There are 8 such cubes in the centre.

102. Verifying option [1] is very cumbersome. Options [2] and [3] can be verified by expressing the lines in the form (y = mx + c) and finding their slopes. The values of slopes clearly show that the lines are neither parallel nor perpendicular to each other. For option [4], solve any two equations and find the value of x and y. if these values of x and y satisfy the third equation also, then the lines intersect in a single point.

103. n(n² - 1) = n(n - 1) (n + 1). If n is a an odd number and n > 1, then either of (n + 1) and (n - 1) is a multiple of 4 and the other is a multiple of 2. Also, since (n - 1), n, (n - 1) are three consecutive numbers, one of them must be a multiple of three. thus the product has to be a multiple of (4 ( 3 ( 2) = 24.

104. [3] Use rs = 20, and s is given by the second statement.

105. [3] k is negative from second statement hence both statements are required 

106. [2] Direct statement

107.  [1] We get the answer from the first statement.

108. [3] Both statements are required.

109. The radius of the circle is 6.5,( its diameter is 13 cm. The diameter always subtends a right angle at a point on the circumference. In the given problem one side is 5 cm (chord CA) and the hypotenuse is 13 cm (diameter AB). The third side is thus 12 cm, and the area of the ( is (1/2) )(5)(12) = 30 cm².

110. Assume a suitable number of people for the locality by finding out the LCM of the denominators of the fractions involved. In this case it is the LCM 3, 5 and 10, which is 30. The fractions can now be expressed as simple numbers as shown in the Venn diagram.

111. Since BCE is an equilateral ( on one side of the square, each side of (ABCE will be equal to the side of the square. Thus, DC = EC, i.e. ( \DEC is an isosceles ( in which, ( CDE = ( CED. But M ( DCE = m( DCB + m(CEB = 90 + 60 = 1500. ( m (DEC = m(DEC = (30/2) = 150.

112. Let one pen, one pencil and one eraser cost n, p and r units respectively. Let the amount paid by me be A units.
( I pay (5n + 7p + 4r) = A …….. Eqn. (1) while Rajan pays (6n + 14p + 8 r) = 1.5 A ………… Eqn. (2). Multiply equation (1) by 2.we Get (10n + 14p + 8r)_ = 2A …….. Eqn. (3). Comparing equations (2) and (3), we see that while Rajan 
gets 4 pens less, he pays 0.5A units less. Thus, A = the price of 8 pens. ( the % of the total price paid by me initially, which was used for pens is (5/8) (100) = 62.5%.

113. The Let x and y be the persons who started from A and B respectively. 

Midway between A and B means 36 km. From A and B both. X will take 9 hours to reach the midpoint. In 9 Hours y will also cover 2 + 2.5 + 3 + 3.5 + 4 + 4.5 + 5 + 5.5 + 6 = 36 km. 

Thus y will also reach the midpoint at the same time. Hence the answer is [4].

114. One each of the 1200 watches that he sells in the season, he makes a profit of Rs. 100(i.e. Rs. 250 - Rs. 150). On each of the 300 (i.e. 1500 - 1200) watches that are not sold, he incurs a loss of rs. 150, which is the manufacturing cost. His additional expense is Rs. 30,000 (given). Thus his net profit in the season is Rs. (1,20,000 - 45,000 - 30,000) = Rs. 45,000.

115. Let the number of watches required to be sold in the season be x. ( he sells (1500 - x) watches out of season. The expenditure for manufacturing 1500 watches is (1500 ( 150) = 2.25,000. Add to this the fixed expenditure of rs. 30,000. His total income is from x watches sold at 250 and (1500 - x) watches sold at 100. ( 2,55,000 = (250)(x) + (100)(1500 - x). Solving, we get x = 700.

116. We are given that AB + BC = ce = 12 km. ( time taken to travel AB at a speed of x kmph is (12/x) hours. This is followed by a break of x hours. His speed from C to D is 2(2x) = 4x kmph. Continuing on these lines, we get, [(12/x) + x + (12/2x) + 2x + (12/4x)] = 16 hours. Solving we get x = 3 or x = 7/3. Only x = 3 is among the options given, so that is the answer.

117. The shopkeeper uses a 120 cm scale instead of a 100 cm scale. Thus, while buying 100 cm of cloth, he pays just (100/120), i.e. (5/6) times the actual worth of the goods. If he has 100 cm of material, then while selling, he charges the customer for (100/80), i.e. (5/4) times the actual worth of goods sold. On this SP, he gives a discount of 20%, thus making the actuarial SP as (0.8)(5/4) = 1. Thus for 100 cm of cloth, his CP is (5/6) while the SP is 1. This gives a profit of 20% on the CP.

118. Out of the five girls, he has to invite exactly three. this can be done is 5C3 ways. Out of the four boys, he may invite either one or two or three or four or even none of them. According to the standard formula, this may be done in (2)4 ways. Thus the total number of ways is 5C3 ( (2)4 = 10 ( 14 = 160.

119. In a correctly running watch, the crossing of hands should take place exactly after every (720/11) = 655/11 minutes. In this watch, it takes place after [(3 hours, 18 minutes, 15 seconds)/3] = 3] = (1 hour, 6 minutes, 5 second), i.e. 66 5/60 minutes of watch time. Thus the watch takes longer time to accomplish the task as compared to a correctly running watch. So this watch loses time = [(665/60) - (655/11)] = (83/132) minutes in 655/11 minutes of correct time. So in 1 day, i.e. (24 ( 60) minutes of correct time, it will lose (83/6) minutes, i.e. 13 minutes 50 seconds.

120. When Bhairav (B) covers 1600 m, Akshay (A) covers (1600 - 128) m. So, when B covers (1600/16) = 100 m, A covers (128/16) m = 8 m less. When B covers 100 m, C covers (100 - 4) = 96 m. Thus the ratio in which A and C cover distances is 92 : 96. In 96 m, C gains (96 - 92) = 4 m over A. So in 1.5 miles (i.e. 2400 m), c gains 100 m = (1/16) miles over A.

121 - 125:

121.  Sales per rupee of share capital is highest for 1991 =
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122. % addition to reverse in 1991 =
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% addition to reverse in 1992 =
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% addition to reverse in 1993 =
[image: image7.wmf]280

245



% addition to reverse in 1994 =
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123. Tax per rupee of PBT, 1991 =
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Tax per rupee of PBT, 1992 =




[image: image10.wmf]2.4

1

170

70

170

70

-

30

-

170

=

=



Tax per rupee of PBT, 1993 =
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Tax per rupee of PBT, 1994 =
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124. PBT/Sales, 1991= 
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PBT/Sales, 1992= 
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PBT/Sales, 1993= 
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125. Reserves after 1994 = 80 + 140 + 70 + 245 + 400 = 935

126-130:

126. For Lipton production = 1.64 (“000 tonnes) 

Capacity Utilisation = 64.8% ( 65% 

65% = 13/20, so maximum production capacity = (20 ( 1.64)/13 = 32.8/13 ( 2.53 (‘000 tonnes)

127. Data insufficient, because different varieties of coffee of the same brand may have different prices. 

We can not assume that there will be only one variety of coffee of each brand.

128. Total States Value (incl. Others) = 132.8(Rs. Cr.) 

Sales value (BB + Nestle + Lipton + MAX) = [31.15 + 26.75 + 15.25 + 17.45]  = 90.60 (Rs. Cr.) 

Total sales value of others = 132.8 - 90.60 = 42.2 (Rs. Cr)


Others /Total = 42.2/132,8 (1/3 (approx.)

% share of others = 33.33% (approx.)


Hence, the closest option will be the correct answer i.e. 32%.

129. Total prod capacity = [100 ( Total prod. (‘000 tonnes) ] /(% Capacity utilisation)


= (100 ( 11.63)/61.3


= 1160/50 (approx.)


= 19.3 (‘000 tonnes)

Here we are taking approximate value of the denominator to be less than the actual value, so Hence, the closest option will be the correct answer i.e. 18,900.

Unutilised capacity of a company is given by.

130. (100 - % capacity utilisation) (Production ‘000 tonnes)/(5 capacity utilisation)

Substituting the corresponding  values from the table, we get maximum unutilised cap. Is for MAC i.e. (100 - 59.35) ( (1.54)/59.35 ( 1.05 (‘000 tonnes)

131 - 135:

131. As per the plan number of men working in 5th month was 4 & these 4 men were supposed to do coding. Cost per man - month for coding = Rs. 10000.

Total cost in 5th month = 4 ( 10000 = Rs. 40,000

Number of people actually working in 5th month is 5 & these 5 men are doing the design part of the project. Cost per man - month for design = Rs. 20,000.

Total cost in 5th month = 5 ( 20,000 = Rs. 1,00,000

% change = (100000 - 40000) 100/40000 = 150%.

132. total man months required for coding = (4 + 5 + 5) = 14


Cost per man month coding = Rs. 10,000

Total cost incurred in new coding stage = 14 ( 10,000 = Rs. 1,40,000

133. Total cost in a stage = (Num. Of man months)(Cost per man month in that stage)

Total cost in specification = (2 + 3) 40,000 = Rs. 2,00,000.

Total cost in design = (4 + 3 + 5) 20000 = Rs. 2,40,000.


Total cost in coding = Rs. 1,40,000

Total cost in testing = (4 + 1) 1500 = Rs. 75000


Hence the correct answer is [4].

134. Average cost/man month = (Total cost in that period)/ (No. of man months taken).  Average cost per man month will be minimum for 11-15 month i.e. (90000/9) = Rs. 10,000.

135. In two cases cost will  be different in 5th, 6th & 8th month. From 146, cost will be Rs. 60,000 more in the 5th month, Rs. 20,000 less in the 6th month & Rs. 20,000 more in the 8th month. So net difference will be Rs. 60,000.

136 - 140:

136. Total investment in 1995 = (2923 + 7081.6) = 10,000 crores

Total investment in 96 = (3489 + 8352) ( 11,840

Percentage increase = (11,840 - 1000) 100/10000


= 18.4 = 18 (approx.)


Hence the correct answer is [4].

137. Total investment in Chittor district = (2923.1 + 3489.5) ( 6400 (approx.)

Total investment in Khammam district = (7081.6 + 8352.0) ( 15400 (approx.)


Required Ratio = 77/32 = 2.4 (approx.)

138. Total investment in Electricity & Thermal Energy in 1995 = (81.2 + 632.4 + 2065.8 + 1232.7)


= (800 + 650 + 2100 + 1200) = 4750(approx.)


Percentage = (4750)/(1000) = 47.5 (approx.)


Hence the correct answer is [2]

139. Again use approximate values & degree of approximation allowed will depend on the difference in the various options.


Electricity = (23 - 20) 100/20 = 15%


Chemical = 22/74 = 28%


Solar = 4/12 = 30%


Nuclear = 5/16 = 31%


Hence the correct answer is [1]

140. % increase from 95 to 96 = % increase from 96 to 97


(8352.0 - 7081.6)/7081.6 = (x - 8352.0) /8350

Using approximation, 1270/7080 = (x - 8350)/8350


x = 9850.

141 - 145: 

This caselet is very easy & most of the questions can be answered just by careful observation without doing actual calculations.

141. In May number of employees suddenly increases but the profit is increasing at much slower rate so profit per employee must be highest either in Jan. or in March & comparing the values for the graph, March is the correct answer.

142. Profit={Sales- Cost}, the difference between the line graph for sales & line graph for cost is maximum in September & so September is the correct ans.

143. Comparing the value for sales in various months as per the conditions, maximum difference is between January & March and base value is minimum for January, so % increase will be maximum in March.

144. Increase in cost is maximum for May i.e. 34 - 30 = 4 on the line graph.

145. Num. Of persons employed = Num. Of employee in Nov. - Num. Of employee in Jan = 15,800 - 10,800 = 5000(apporx).

Closest ans. is 5100 & so [2] is the correct answer.

146-150:

146. Num of such students = (36 - 12)% of 800 + (48 - 17)% of 730 + (43 - 23)% of 1100 


= 24% of 800 + 31% of 730 + 20% of 1100


= 192 + 226 + 220


= 638 (approx.)

Closest option is 650, so [2] is the correct answer.

147. In 1994 total money earned by finance students = 23% of 1100 x (7550 ( 12)

Similarly total money earned by s/w students = 21% of 1100 x (7050 ( 12)

Difference = 1320 (23 ( 755 - 21 ( 705) = 33.8 lakhs (approx.)

148. % increase in average salary of finance = (9810 - 5450) 100/5450


= 8700/109


80% (approx.)

149. Can not be determined as average monthly salary of students in ‘Others’ category is not given.

150. % Increase in initial sal. In s/w = (8640 - 5290)100/5290


( (3350 ( 100)/5300


( 63.3%


Annual increase = 63.3/4 = 15.8 (approx.)

Closest option is 16.3%, so [3] is the correct answer.

Solutions to Q. 151 to 160, Data Sufficiency

Students may please note that Data sufficiency questions require that one arrives at a unique answer, and that too, not in terms of any variable, but in numerical terms only. Only if such an answer can be obtained can one say that the question can be fully answered. Also, students are cautioned to be careful about the type of inference associated with answers a, b, c and d. The order of these inferences differs from paper to paper.

151. We are required to find out the exact cost price. Both the statements give the same information, i.e. the SP is 0.75 times the CP. So the answer is [1]

152. Cancel out the integer “a” on both the sides of the inequality. Arrange “b” on one side of the inequality and “c” on the other. We have to now determine the relation between (- 2b) and (- 2c). If “b” is - ve, then (- 2b) is + ve. If “c” is + ve, then (- 2c) is - ve. So ( - 2b) > (- 2c). Since both the statements are required to determine the outcome, we get [4] as the answer.

153. By default, the profit is always mentioned as a % of the CP. From statement [2], we see that the profit on the article is 25% of Rs. 250, which is Rs. 62.50. So the SP can be determined with the help of statement [2] alone, and the answer is [2].

154. To find the radius of the rear wheel, we need to know the numerical value of its circumference. From statement [1], we get a relation between the circumferences of the two wheels in terms of “N”. From statement [2], we get similar information in terms of “t”. Thus, the radius cannot be determined from the given data and the answer is [1].

155. There is a catch in the problem. Although the containers are of equal volume, it is not known to what extent these containers are filled by the liquids A and B. (i.e. the first container might be half full, while the second might be two-thirds full). Until such details are known, the final ratio of liquids A and B cannot be found out. Thus, the answer is [1].

156. The two statements give the standard results which hold good for any quadratic equation of the given form. ((² + (²) can be obtained as [(( + ()2 - 2((]. From the given statements one can get an answer only in terms of a and b. So the answer is [1].

157. If the number of type - 1 widgets produced is A and that of type - 2 widgets is B, then we get the basic equation [A + B = 20,000] from the data in the question. From statement [1], we get [1.1 A + 1.06 B = 20,000]. This is enough to give us the value of B. Similarly from statement [2], we get A = 2B. This is enough to give us the value of B.

158. Anil’s age was a prime number in 1996 and 1998. So Anil’s age in these two yeas can be a pair of such numbers which are prime, and differ by 2. We have many such pairs - (3,5), (5, 7), (11, 13)….. And it is not possible to arrive at a unique answer. So the answer is [4].

159. Let Lakhiram’s assets be worth Rs. X. In the case of compound interest, the period of reckoning or calculation of CI is very important. This information is given in statement (b). The annual CI rate is 10%, so the rate for 4 months is (4/12) 10 = (10/3)%. So the total Cl after one year, in terms of X, may be written as: Cl = X[(1 + ((10/3)/100)]3, because in a year, there are 3 terms of 4 months. This interest is followed by a tax of 4% paid by him which ultimately fetches Lakhiram Rs. 1500. This data helps us to find the value of X, so the answer is [4].

160. Although it is known that none of the lines are parallel to each other, there might be the case wherein all the lines have exactly one point of intersection, or eight lines with one point and the other eight with another point of intersection. Unless something about the relative arrangement of these lines is known, one cannot arrive at a definite answer. So the answer is [1].
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